Let’s practice!
Expressing regrets and unreal situations.

We use past perfect in the condition clause: =2 if | had skipped breakfast...
And would have + verb -ed/3™ column in the result clause = ... | wouldn’t have arrived late to
school.

1. Complete the sentence using 3™ conditional structures.

a. Ifl (study) more, | would have passed the exam.

b. If you (not watch) TV until so late, you wouldn’t have overslept this
morning.

c. If my mother had bought more eggs, | (make) a spongy cake.
My sister (travel) to Spain if Covid 19 hadn’t spread so fast.

e. My favorite sports team (win) the tournament if the referee had

seen the goalkeeper committing a foul.

2. Read the situations below. Re-write the situations using 3' conditional structures.

Example: I didn’t skip breakfast, so | arrived late.
If | had skipped breakfast, | wouldn’t have arrived late to school.

a. |didn’t have enough money. | couldn’t buy a new cellphone.

b. | broke my leg. | couldn’t play in the hockey tournament.

c. My mother didn’t go to the park. She didn’t see the accident.

d. Iclosed the door. My dog didn’t escape.

e. We saw the movie. The cinema was open.




